UGC NET 2021 French French Version

Topic:- 39FRENCH_A

1) Lequel des suivants est un peintre du XIX® Siécle ?

(1) Pablo Picasso (2) Paul Cézanne
(3) André Gide (4) Marcel Pagnol

[Question ID = 2737][Question Description = Q01_French_SHAAN_NOV21]

1. 1 [Option ID = 10411]
2. 2 [Option ID = 10412]
3. 3 [Option ID = 10413]
4. 4 [Option ID = 10414]

2) Lequel des chanteurs suivants est connu pour la chanson, Le Parapluie ?

(1) Sophie Lorraine (2) George Brazsens
(3) Francis Cabrel (4) Serge Gainsbourg

[Question ID = 2738][Question Description = Q02_French_SHAAN_NOV21]

1. 1 [Option ID = 10415]
2. 2 [Option ID = 10416]
3. 3 [Option ID = 10417]
4. 4 [Option ID = 10418]

3)  De quel procédé s'agit-il quand Racine dit << Je briile pour Thésée >= ?
(1) Litéte (2) Métonymie
(3) Métaphore (4) Oxymore

[Question ID = 2739][Question Description = Q03_French_SHAAN_NOV21]

1. 1 [Option ID = 10419]
2. 2 [Option ID = 10420]
3. 3 [Option ID = 10421]
4. 4 [Option ID = 10422]

4)  Parmi les sons suivants lequel est un son apicodental. sonore et nasal ?

QO & @
G @ i

[Question ID = 2740][Question Description = Q04_French_SHAAN_NOV21]

1. 1 [Option ID = 10423]
2. 2 [Option ID = 10424]
3. 3 [Option ID = 10425]
4. 4 [Option ID = 10426]

5) Combien de phonémes v a — t — il dans le mot << dérobée == ?

(1) 6 2 3
3 8 @ 17

[Question ID = 2741][Question Description = Q05_French_SHAAN_NOV21]

1. 1 [Option ID = 10427]
2. 2 [Option ID = 10428]
3. 3 [Option ID = 10429]
4. 4 [Option ID = 10430]

6) Que signifie I'expression “avoir du pot™?

(1) avolr un probléme (2) étre malade
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[Question ID = 2742][Question Description = Q06_French_SHAAN_NOV21]
1. 1 [Option ID = 10431]
2. 2 [Option ID = 10432]
3. 3 [Option ID = 10433]
4. 4 [Option ID = 10434]

7) Quel est le sous-titre d’ Emile de Rousseau?

(1) De I'Optimisme (2) Del'Education
(3) De la Déstinée (4) Des Malheurs de la Vertu

[Question ID = 2743][Question Description = Q07_French_SHAAN_NOV21]
1. 1 [Option ID = 10435]
2. 2 [Option ID = 10436]
3. 3 [Option ID = 10437]
4. 4 [Option ID = 10438]

8) Quel est le pluriel de “Savoir-faire™?
(1) Des Savoirs-faire (2) Des Savoir-faires
(3) Des Savolrs-faires (4) Des Savoir-faire

[Question ID = 2744][Question Description = Q08_French_SHAAN_NOV21]
1. 1 [Option ID = 10439]
2. 2 [Option ID = 10440]
3. 3 [Option ID = 10441]
4. 4 [Option ID = 10442]

?) Qui sont les théoriciens du Nouveau Roman ?

(1) Sartre. Camus. Sarraute (2) Robbe-Grillet, Butor, Sarraute

(3) Balzac. Butor. Sarraute (4) Mauriac. Sartre, Camus

[Question ID = 2745][Question Description = Q09_French_SHAAN_NOV21]

1. 1 [Option ID = 10443]
2. 2 [Option ID = 10444]
3. 3 [Option ID = 10445]
4. 4 [Option ID = 10446]

10)  “Cette chanteuse a une incroyable”.
Parmi les mots suivants. lequel remplit le blanc dans la phrase ci-dessus ?
(1) Voie (2) Voix
(3) Vois (4) Voit

[Question ID = 2746][Question Description = Q10_French_SHAAN_NOV21]
1. 1 [Option ID = 10447]
2. 2 [Option ID = 10448]
3. 3 [Option ID = 10449]
4. 4 [Option ID = 10450]

) Quelle est la forme correcte pour remplir le blanc ?

== Elles se sont compte de leurs erreurs ==
(1) rendu (2) rendues
(3) rendus (4) rendue

[Question ID = 2747][Question Description = Q11_French_SHAAN_NOV21]
1. 1 [Option ID = 10451]
2. 2 [Option ID = 10452]
3. 3 [Option ID = 10453]
4. 4[Option ID = 10454]

12) De quoi parle le roman, Le Voile de Draupadi?



(1) la condition féminine (2) laréalité du systéme colonial

(3) I'indépendance de I'Afrique (4) la negritude

[Question ID = 2748][Question Description = Q12_French_SHAAN_NOV21]
1. 1 [Option ID = 10455]
2. 2 [Option ID = 10456]
3. 3 [Option ID = 10457]
4. 4 [Option ID = 10458]

13) Dans Une Lettre s1 longue comment sappelle la camarade de classe de la fille de la

narratrice qui épouse le vieux qui lul achetait des robes ?

(1) Toussine (2) Léocadie
(3) Binetout (4) Minerve

[Question ID = 2749][Question Description = Q13_French_SHAAN_NOV21]
1. 1 [Option ID = 10459]
2. 2 [Option ID = 10460]
3. 3 [Option ID = 10461]
4. 4 [Option ID = 10462]

14)  Quelle option remplit la case ?

== Je Cherche ta sceur. Je ne trouve nulle part. ==
(1 la 2) Tla
(3) l'as (4) la

[Question ID = 2750][Question Description = Q14_French_SHAAN_NOV21]
1. 1 [Option ID = 10463]
2. 2 [Option ID = 10464]
3. 3 [Option ID = 10465]
4. 4 [Option ID = 10466]

15)  Quelle forme remplit la case blanche ?

== [la veulent apprendre la musique ==
(1)  tout (2) toute
(3) toutes (4) tous

[Question ID = 2751][Question Description = Q15_French_SHAAN_NOV21]
1. 1 [Option ID = 10467]
2. 2 [Option ID = 10468]
3. 3 [Option ID = 10469]
4. 4 [Option ID = 10470]

16) De quel procédé linguistique s'agit-il larsquon utilise le terme ‘télé pour ‘télévision’ 7

(1) Durcissement (2) Enjambement

(3) Assimilation (4) Apocopie

[Question ID = 2752][Question Description = Q16_French_SHAAN_NOV21]
1. 1 [Option ID = 10471]
2. 2 [Option ID = 10472]
3. 3 [Option ID = 10473]
4. 4 [Option ID = 10474]

17) Qu'est-ce que c'est Saragosse 7
(1) Un Chateau (2) TUne Ville
(3) Une Colline (4) Un groupe militaire

[Question ID = 2753][Question Description = Q17_French_SHAAN_NOV21]
1. 1 [Option ID = 10475]



2. 2 [Option ID = 10476]
3. 3 [Option ID = 10477]
4. 4 [Option ID = 10478]

18) Lequel de ces traits se manifeste dans la poésie du XVI siécle ?
(1) L'inspiration philosophique (2) L'inspiration érotique
(3) L'inspiration humoristique (4) Linspiration biblique

[Question ID = 2754][Question Description = Q18_French_SHAAN_NOV21]
1 [Option ID = 10479]
2 [Option ID = 10480]
3 [Option ID = 10481]
4 [Option ID = 10482]

AN wnN -

19) . .
Dans quelle piéce de Racine se trouve

le vers suivant : “Soleil. je te viens voir pour la derniére fois™?

(1) Phedre (2) Andromagque
(3) Britannicus (4) Bérénice

[Question ID = 2755][Question Description = Q19_French_SHAAN_NOV21]
1 [Option ID = 10483]
2 [Option ID = 10484]
3 [Option ID = 10485]
4 [Option ID = 10486]

A w N =

20) Qui sont les philosophes des Lumiéres?

(1) Claude Bernard, August Comte, Ernest Renan

(2) Voltaire, Rousseau. D’Alembert

(3) Robespierre, Marat, Danton

(4) Montesquieu, Marivaux, Beaumarchais
[Question ID = 2756][Question Description = Q20_French_SHAAN_NOV21]
1 [Option ID = 10487]
2 [Option ID = 10488]

3 [Option ID = 10489]
4 [Option ID = 10490]

A W N -

21) A quoi renvoie le terme “Ends” dans le modéle “SPEAKING"” de Dell Hymes?

(1) Intentions des participants
(2) Buts et résultats de 'activité de communication
(3) Normes d'interaction

(4) Cadre physique de I'échange

[Question ID = 2757][Question Description = Q21_French_SHAAN_NOV21]
. 1 [Option ID = 10491]
2 [Option ID = 10492]
3 [Option ID = 10493]
4 [Option ID = 10494]

A W N -

22)  Comment appelle-t-on un document en didactique des langues étrangéres, qui n'a pas été

congu expressément pour l'étude de la langue mals pour répondre & une fonction de
communication réelle ?

(1) Document pédagogique (2) Document fabriqué

(3) Document authentique (4) Document pragmatique

[Question ID = 2758][Question Description = Q22_French_SHAAN_NOV21]
1. 1 [Option ID = 10495]
2. 2 [Option ID = 10496]
3. 3 [Option ID = 10497]



4. 4 [Option ID = 10498]

23) pe quel type de stratéeie sagit-1l lorsquun apprenant réfléchit sur son processus

d'apprentissage et il sauto corrige ?

(1) Stratégle cognitive (2) Stratégie socio-affective

(3) Stratégie métacognitive (4) Stratégie cumulative

[Question ID = 2759][Question Description = Q23_French_SHAAN_NOV21]
1. 1 [Option ID = 10499]
2. 2 [Option ID = 10500]
3. 3 [Option ID = 10501]
4. 4 [Option ID = 10502]

24) Qu'entendez-vous par la lecture globale?

(1) 11 s'agit d'une lecture intégrale exhaustive
(2) 11 s’agit de repérer des indices pertinents pour l'information recherchée
(3) Il s’agit de repérer des indices permettant la construction d'hypothéses sur le sens
(4) 1l s'agit d'une lecture détaillée
[Question ID = 2760][Question Description = Q24_French_SHAAN_NOV21]
1. 1 [Option ID = 10503]
2. 2 [Option ID = 10504]

3. 3 [Option ID = 10505]
4. 4 [Option ID = 10506]

25 ; : ; g .
) A quelle théorie d'apprentissage fait allusion le texte suivant?
Le processus d'apprentissage dune langue s'explique par la formation d'habitudes & travers

T'association “stimuli-réponses”
Cochez la bonne réponse :

(1 Constructivisme (2) Soclo-cognitivisme

(3) Gestaltisme (40 Behaviorisme

[Question ID = 2761][Question Description = Q25_French_SHAAN_NOV21]
1. 1 [Option ID = 10507]
2. 2 [Option ID = 10508]
3. 3 [Option ID = 10509]
4. 4 [Option ID = 10510]

26) Lequel de ces pays servait de modéle de monarchie parlementaire aux philosophes du
XVIII® siecle?
(1) La Prusse (2) La Russie
(3) L'Angleterre (4) La Hollande

[Question ID = 2762][Question Description = Q26_French_SHAAN_NOV21]
1. 1 [Option ID = 10511]
2. 2 [Option ID = 10512]
3. 3 [Option ID = 10513]
4. 4 [Option ID = 10514]

27)  Avee lequel de ces affaires, “J'accuse” est associé?
(1) L’affaire Calas (2) L'affaire des colliers
(3) L'affaire Dreyfus (4) L'affaire Sarkozy-Kadhaffi

[Question ID = 2763][Question Description = Q27_French_SHAAN_NOV21]
1. 1 [Option ID = 10515]
2. 2 [Option ID = 10516]
3. 3 [Option ID = 10517]
4. 4 [Option ID = 10518]



28)  Parmi ces ceuvres, laguelle est écrite par Simone de Beauvoir ?

(1) La Nausee (2) La Condition Humaine
(3) Les Justes (4) La Force des Choses

[Question ID = 2764][Question Description = Q28_French_SHAAN_NOV21]
1. 1 [Option ID = 10519]
2. 2 [Option ID = 10520]
3. 3 [Option ID = 10521]
4. 4 [Option ID = 10522]

29) Que privilégie un traducteur cibliste?

(1) 11 privilégie les sources de la langue cible

(2) I1 privilégie les attentes linguistiques, stylistiques et socie culturelles
destinataires

(3) 11 privilegie les attentes linguistigues, stylistiques et socio culturelles
destinateurs

(4) Il s’attache aux signifiants de la langue d'auteur

[Question ID = 2765][Question Description = Q29_French_SHAAN_NOV21]
1. 1 [Option ID = 10523]
2. 2 [Option ID = 10524]
3. 3 [Option ID = 10525]
4. 4 [Option ID = 10526]

30) De quel cas s'agit-il. si on traduit “weeds” par “les mauvaizes herbes” en francgais?

Cochez ea bonne réponse :

(1) Sous-traduction (2) Dilution

(3 Concentration (4) Variante stylistique

[Question ID = 2766][Question Description = Q30_French_SHAAN_NOV21]
1. 1 [Option ID = 10527]
2. 2 [Option ID = 10528]
3. 3 [Option ID = 10529]
4. 4 [Option ID = 10530]

31) Qui a rédigé The word against the word Initiation & la version anglaise?

(1) Jean Delisle (2) Frangoize Grellet
(3) Jean Dubois (4) Marianne Lederer

[Question ID = 2767][Question Description = Q31_French_SHAAN_NOV21]
1. 1 [Option ID = 10531]
2. 2 [Option ID = 10532]
3. 3 [Option ID = 10533]
4. 4 [Option ID = 10534]

32)  Avec qui associe-t-on “les tendances déformantes” de la traduction?

(1) André Lefévre (2) Danica Selescovitch
(3) Antoine Berman (4) Susan Bassnett

[Question ID = 2768][Question Description = Q32_French_SHAAN_NOV21]
1. 1 [Option ID = 10535]
2. 2 [Option ID = 10536]
3. 3 [Option ID = 10537]
4. 4 [Option ID = 10538]

33) Que veut dire l'expression suivante en traduction :

des

des



Les traducteurs sont amateurs de “verres colorés”.

(1) Les traducteurs pratigquent I'équivalence formelle
(2) Les traducteurs pratiquent I'équivalence dynamique
(3) Les traducteurs sont connaisseurs de la poésie locale

(4) Les traducteurs restent plus prés du public cible

[Question ID = 2769][Question Description = Q33_French_SHAAN_NOV21]
1. 1 [Option ID = 10539]
2. 2 [Option ID = 10540]
3. 3 [Option ID = 10541]
4. 4 [Option ID = 10542]

34) Quelles options conviennent pour remplir les blancs ?
<< (Ces personnes, tous Ingénleurs d'un petit village indien, ont trouve des
solutions au probléme. ==
(1) Originaire — Originale (2) Originaires — Originale
(3) Originaire — Originales (4) Originaires — Originales

[Question ID = 2770][Question Description = Q34_French_SHAAN_NOV21]
1. 1 [Option ID = 10543]
2. 2 [Option ID = 10544]
3. 3 [Option ID = 10545]
4. 4 [Option ID = 10546]

35)  Quelle forme convient pour remplir le blanc ?

<= Les enfants ont terminé tartines. ==
(1) leur (2) leurs
(3) I'heure (4) leures

[Question ID = 2771][Question Description = Q35_French_SHAAN_NOV21]
1. 1 [Option ID = 10547]
2. 2 [Option ID = 10548]
3. 3 [Option ID = 10549]
4. 4 [Option ID = 10550]

36) < Les billets d'avion coiitent ==

Parmi les formes suivantes, laquelle remplit le blanc dans la phrase ci-dessus ?
(1) Chers (2) Chéres
(3) Cher (4) Chére

[Question ID = 2772][Question Description = Q36_French_SHAAN_NOV21]

1. 1 [Option ID = 10551]

2. 2 [Option ID = 10552]

3. 3 [Option ID = 10553]
4. 4 [Option ID = 10554]

37) Quelle option convient pour remplir la case vide ?

<= Nous avons noté irrégularités dans la procédure. ==
(1) quelgue (2) quelleque
(3) quelles-que (4) quelques

[Question ID = 2773][Question Description = Q37_French_SHAAN_NOV21]
1. 1 [Option ID = 10555]



2. 2 [Option ID = 10556]
3. 3 [Option ID = 10557]
4. 4 [Option ID = 10558]

38) Quelle est 1a meilleure traduction ?

— Foreign Currencies Bought and Sold

(1) Les monnaies étrangeéres ont eté achetées et vendues
(2) Les monnaies de l'extérieur ont été achetées et vendues
(3 Achat et vente de monnaies étrangéres

(4) La transaction des monnaies étrangéres sést terminée

[Question ID = 2774][Question Description = Q38_French_SHAAN_NOV21]
1. 1 [Option ID = 10559]
2. 2 [Option ID = 10560]
3. 3 [Option ID = 10561]
4. 4 [Option ID = 10562]

39) Quelle est la meilleure traduction ?

— He was rushed to the hospital.

(1) I1 a été transporté d'urgence a I'hopital.

(2) Il a été transféré rapidement 4 I'Hépital.

(3) I1 a été précipité a I'Hépital.

(4) 11 a été envoyé a 'Hopital a une vitesse rapide.

[Question ID = 2775][Question Description = Q39_French_SHAAN_NOV21]
1. 1 [Option ID = 10563]
2. 2 [Option ID = 10564]
3. 3 [Option ID = 10565]
4. 4 [Option ID = 10566]

40 : 5
) Quelle est la meilleure traduction ?

— The ink comes off on your fingers.

(1) L'encre vient sur les doigts. (2) L'encre abime tous vos doigts.

(3) L'encre provient de vos doigts. (4) L'encre vous tache les doigts.

[Question ID = 2776][Question Description = Q40_French_SHAAN_NOV21]
1. 1 [Option ID = 10567]
2. 2 [Option ID = 10568]
3. 3 [Option ID = 10569]
4. 4 [Option ID = 10570]

41) Quels sont les mots avec trois syllabes ?

(A) Homophile
(B)  Fragilité
(C) Fulmicoton

D) Fulminer

Cochez la bonne réponse :

(1)  (©et@D)
2 Aet D)



3) (BetD)
4  (@Aet(©

[Question ID = 2777][Question Description = Q41_French_SHAAN_NOV21]
1. 1 [Option ID = 10571]
2. 2 [Option ID = 10572]
3. 3 [Option ID = 10573]
4. 4[Option ID = 10574]

42) Parmi les écrivains suivants, qui n'ont pas obtenu le Prix Nobel de la littérature?

(A)  André Gide
(B) André Malraux
(C)  André Breton

(D) Claude Simon

Cochez la bonne réponse :

(1)  (Aet(B)

@  Bet(C)

(3)  (C)et(D)

4) (Aet(D)
[Question ID = 2778][Question Description = Q42_French_SHAAN_NOV21]
1. 1 [Option ID = 10575]
2. 2 [Option ID = 10576]

3. 3 [Option ID = 10577]
4. 4 [Option ID = 10578]

43) Qu1 sont les personnages de 'Aventure Ambigug?

(A) Man Ninotte
(B) Samba Diallo
(C) La Grande Royale

(D) Fama

Cochez la bonne réponse :

1)  (A)et(B)
(2) (B) et (C)
(3) (C)et(D)
(4) (A) et (D)

[Question ID = 2779][Question Description = Q43_French_SHAAN_NOV21]
1. 1 [Option ID = 10579]
2. 2 [Option ID = 10580]
3. 3 [Option ID = 10581]
4. 4 [Option ID = 10582]

44) Qu'est ce que les trouvéres écrivent au Moyen Age ?

(A) Les exploits guerriers
(B) Les 1dées philosophiques

(C) Le sentiment de I'honneur



(D)  Lesidées réalistes

Cochez la bonne réponse :

(1) B et D)
(2) (A) et (C)
(3  Bet(C)

@ Aet D

[Question ID = 2780][Question Description = Q44_French_SHAAN_NOV21]
1. 1 [Option ID = 10583]
2. 2 [Option ID = 10584]
3. 3 [Option ID = 10585]
4. 4 [Option ID = 10586]

45) Quelles sont Les ceuvre poétiques de Ronsard?
(A) Hymnes
(B) Le Lais

(C) Discours

D Sagesse

Cochez la bonne réponse :

(1) (Aet®d)
2)  (B)et(C)
3) @AWetd)
@  Aet(Q)

[Question ID = 2781][Question Description = Q45_French_SHAAN_NOV21]
1. 1 [Option ID = 10587]
2. 2 [Option ID = 10588]
3. 3 [Option ID = 10589]
4. 4 [Option ID = 10590]

46) Lesquels de ces personnages sont crées par Moliére?

(A) Dorante
(B) Hermione
(C)  Athalie

(D) Uranie

Cochez la bonne réponse :

(1) Aetd)

(2) (B)et(C)

(3 (O et(D)

4 (B)et (D)
[Question ID = 2782][Question Description = Q46_French_SHAAN_NOV21]
1. 1 [Option ID = 10591]
2. 2 [Option ID = 10592]

3. 3 [Option ID = 10593]
4. 4 [Option ID = 10594]



47)

Qui sont les rois mérovingiens 7

(A)
(B)
(©

D)

Clovis
Childeric I¥
Mérovée

Thibert I*

Cochez la bonne réponse :

(1)
2
(3)
(4)

(A) et (D)
(A) et (B)
(C) et (D)
(B) et (C)

[Question ID = 2783][Question Description = Q47_French_SHAAN_NOV21]
1. 1 [Option ID = 10595]
2. 2 [Option ID = 10596]
3. 3 [Option ID = 10597]
4. 4 [Option ID = 10598]

48)

Quels facteurs principaux ont contribué dans le développement de I'approche communicative

en France?

(A) Critique des méthodes directes

(B)  Utilisation d'outils nouveaux permettant de définir les besoins des apprenants
(©) Priorité accordée a l'oral

(D)  Critique des méthodes audio visuelles

Cochez la bonne réponse :

(1)
(2)
(3)
@

(A) et (B)
(A) et (C)
(B) et (D)
(C) et (D)

[Question ID = 2784][Question Description = Q48_French_SHAAN_NOV21]
1. 1 [Option ID = 10599]
2. 2 [Option ID = 10600]
3. 3 [Option ID = 10601]
4. 4 [Option ID = 10602]

49)

Sur gquoi parte l'enquéte du Francaizs fondamental. basée sur le critére de frégquence

d'emploi?

(&) Notions fondamentales
(B) Lexique fondamental

(C) Phonémes de base

(D) Structurés fondamentales

Cochez la bonne réponse :

' Y

fAY ot Y



2 (B)et(O)
(3) (B)etD)
4 A@etD)

[Question ID = 2785][Question Description = Q49_French_SHAAN_NOV21]
1. 1 [Option ID = 10603]
2. 2 [Option ID = 10604]
3. 3 [Option ID = 10605]
4. 4 [Option ID = 10606]

0 Sur quol se base la recherche empirique en didactique des langues étrangeres?

(A) Traitement des notions théoriques
(B) Collecte des données a caractére non mesurable
(C) Observation

(D) Expérimentation

Cochez la bonne réponse :

1 @et®B
2 (Aet(©
(3) (B et(0)

(4) (C) et (D)

[Question ID = 2786][Question Description = Q50_French_SHAAN_NOV21]
1. 1 [Option ID = 10607]
2. 2 [Option ID = 10608]
3. 3 [Option ID = 10609]
4. 4 [Option ID = 10610]

51)  Quels sont les traits de l'oralité ?

(A) Phatémes
(B) Reprises
(C)  Débit ryvthmique

(D) Formes nominales

Cochez la bonne réponse :

1) Aet®
2  Aet(C)
3 AetdD)
4 (B et(C)

[Question ID = 2787][Question Description = Q51_French_SHAAN_NOV21]
1. 1 [Option ID = 10611]
2. 2 [Option ID = 10612]
3. 3 [Option ID = 10613]
4. 4 [Option ID = 10614]

52)  Comment peut-on traduire ?

— The date for the next meeting has been tentatively scheduled for the 20th March.



(A)  Date provisoire de la prochaine réunion : 20 mars
(B)  Date tentative pour la prochaine réunion est le 20 mars
(C)  La prochaine réunion pourrait avoir lieu le 20 mars

(D)  La prochaine fois la réunion aura lieu tentativement le 20 mars

Cochez le bon chaix :

(L (A) et (B)
(2) (Aet(C)
(3) (C)et(D)
4 (B et (D)

[Question ID = 2788][Question Description = Q52_French_SHAAN_NOV21]
1. 1 [Option ID = 10615]
2. 2 [Option ID = 10616]
3. 3 [Option ID = 10617]
4. 4 [Option ID = 10618]

53 ; SIS g .
) Qui a contribué a la rédaction de la

Pédagogie raisonnée de l'interpretation?

(A) Marianne Lederer
(B) Lawrence Venuti
(C) Danica Seleskovileh
(D)  Paul St. Pierre

Quel est le bon choix?

1) (Aet(O)

(2) (A) et (B)

(3) (BetD)

(4) (C) et (D)
[Question ID = 2789][Question Description = Q53_French_SHAAN_NOV21]
1. 1 [Option ID = 10619]
2. 2 [Option ID = 10620]

3. 3 [Option ID = 10621]
4. 4 [Option ID = 10622]

54
) Dans quel roman d’Anne Hébert. rencontre-t-on les personnages de Jérome Rolland et
Elizabeth?
(1) Kamouraska (2) Héloize
(3) Les Fous de Bassam (4) Le Premier Jardin

[Question ID = 2790][Question Description = Q54_French_SHAAN_NOV21]
1. 1 [Option ID = 10623]
2. 2 [Option ID = 10624]
3. 3 [Option ID = 10625]
4. 4 [Option ID = 10626]

33) Qui a dit: « La démocratie. ce n'est pas la loi de la majorité, mais la protection de la

minorité »?

(1) J.P. Sartre (2) Eugene Ionesco
(3) Albert Camus (4) Samuel Beckett

[Question ID = 2791][Question Description = Q55_French_SHAAN_NOV21]
1. 1 [Option ID = 10627]



2. 2 [Option ID = 10628]
3. 3 [Option ID = 10629]
4. 4 [Option ID = 10630]

56) Quel personnage de conte de fées de Charles Perrault. tue les femmes qu’ll épouse parce
qu'elles entrent dans une chambre interdite 7

(1) Barbe noire (2) Barbe rouge
(3) Barbe blanche (4) Barbe bleue

[Question ID = 2792][Question Description = Q56_French_SHAAN_NOV21]
1. 1 [Option ID = 10631]
2. 2 [Option ID = 10632]
3. 3 [Option ID = 10633]
4. 4 [Option ID = 10634]

37) De quel procédé de traduction s'agit-il dans I'exemple suivant :

— The evening was oppressively warm.
La soirée était d'une chaleur accablante.

(1) Chassé-Croisé (2) Transposition

(3) Calque (4) Modulation

[Question ID = 2793][Question Description = Q57_French_SHAAN_NOV21]
1. 1 [Option ID = 10635]
2. 2 [Option ID = 10636]
3. 3 [Option ID = 10637]
4. 4 [Option ID = 10638]

58)  Comment appelle-l-on le résultat d'un étoffement qui consiste & remplacer un moi du texte

source par un groupe de mots?

(1) Concesslon (2) Transparence

(3) Périphrase (4) Compensation

[Question ID = 2794][Question Description = Q58_French_SHAAN_NOV21]
1. 1 [Option ID = 10639]
2. 2 [Option ID = 10640]
3. 3 [Option ID = 10641]
4. 4 [Option ID = 10642]

59) Pour quel roman. Tahar Ben Jelloun a-t-il regu la prix Goncourt ?
(1) L’Enfant de sable (2) Moha le fou. Moha le sage
(3) La Nuit Sacrée (4) La Réclusion Solitaire

[Question ID = 2795][Question Description = Q59_French_SHAAN_NOV21]
1. 1 [Option ID = 10643]
2. 2 [Option ID = 10644]
3. 3 [Option ID = 10645]
4. 4 [Option ID = 10646]

60) De quel procédé de traduction s'agit-il dans I'exemple suivant :

— He read the book from cover to cover
—1I1 a lu le livre de la premiére a la derniére page

(1 Transposition (2) Medulation
(3) Calque (40 Modalisation

[Question ID = 2796][Question Description = Q60_French_SHAAN_NOV21]
1. 1 [Option ID = 10647]
2. 2 [Option ID = 10648]
3. 3 [Option ID = 10649]
4. 4 [Option ID = 10650]



61) De quel procédé de traduction s'agit-il dans I'exemple suivant :

— An old woman hobbled in from the back.
— Une vieille femme arriva en boitant de I'arriére boutique

(1) Chassé — Croisé (2) Adaptation
(3) Calque (4) Modulation

[Question ID = 2797][Question Description = Q61_French_SHAAN_NOV21]
1. 1 [Option ID = 10651]
2. 2 [Option ID = 10652]
3. 3 [Option ID = 10653]
4. 4 [Option ID = 10654]

2) ‘Dang quelle région. la danse da la brioche est pratiquée au moment de marriage?
(1) Vendée (2) Bretagne
(3) Pays de la Loire (4) Alsace

[Question ID = 2798][Question Description = Q62_French_SHAAN_NOV21]
1. 1 [Option ID = 10655]
2. 2 [Option ID = 10656]
3. 3 [Option ID = 10657]
4. 4 [Option ID = 10658]

63) Quels termes appartiennent au champ lexical de danse ?

(A) Revirement
(B) Musculature
(C) Vroum

(D) Circonvolution

Cochez la bonne réponse :

(1) (Aet(B)

(20 AetD)

(3) (B) et (C)

4 (C) et (D)
[Question ID = 2799][Question Description = Q63_French_SHAAN_NOV21]
1. 1 [Option ID = 10659]
2. 2 [Option ID = 10660]

3. 3 [Option ID = 10661]
4. 4 [Option ID = 10662]

64)  Ou trouve-t-on la grappa, une boisson alcoolisée 7
(1) Le Vanuatu (2) La Polynésie
(3) Le Laos (4) Le Val d'Aoste

[Question ID = 2800][Question Description = Q64_French_SHAAN_NOV21]
1. 1 [Option ID = 10663]
2. 2 [Option ID = 10664]
3. 3 [Option ID = 10665]
4. 4 [Option ID = 10666]

63) Quels sont les personnages principaux de la bande dessinée, Tintin ?

(A) Le Docteur Miiller



(B) Dupond et Dupont
(C) Dupon et Dupom

(§0))] Le Professeur Tournevite

Cochez la bonne réponse :

(1) (Aet(®B)
(2) (Aet(C)
(3) (Aet(D)
4 BetD)

[Question ID = 2801][Question Description = Q65_French_SHAAN_NOV21]
1. 1 [Option ID = 10667]
2. 2 [Option ID = 10668]
3. 3 [Option ID = 10669]
4. 4 [Option ID = 10670]

66)

Assoclez les éléments de la Colonne I avec ceux de la Colonne IT :

Colonne I Colonne II
(Auteur) (Pays)
(A) Kateb Yacine (I) Tunisie
(B) Albert Memmi (I)y Algérie
(C) Tahar Ben Jalloun (IIT) Egypte
(D) Naguib Mahfouz (IV) Maroc

Cochez la bonne réponse :

(1 (A-D. B)-D. (O)-ID. (D)-(IV)
(2)  (A)-av). (B)-(1D). (C)-1). (D)-IL)
3y A-O. B-ID. (O)-IV). (D)-AID
@ (A)-AD. B)-@). (O)-IV), (D)-(IIL)

[Question ID = 2802][Question Description = Q66_French_SHAAN_NOV21]
1. 1 [Option ID = 10671]
2. 2 [Option ID = 10672]
3. 3 [Option ID = 10673]
4. 4 [Option ID = 10674]

67)

Par quelles options remplit-on les cases blanches dans la phrase suivante?

Juliette habillée tét, mais Julilen n'a pas chaussures.
vraiment inadmissible, tu !

(1 Sais, Ses, S'est, Clest (2) Sest. Ses, Clest, Sais

(3) Sais, C'est, S'est, Ses (4) S'est. Ses. Sais, Clest

[Question ID = 2803][Question Description = Q67_French_SHAAN_NOV21]
1. 1 [Option ID = 10675]
2. 2 [Option ID = 10676]
3. 3 [Option ID = 10677]
4. 4 [Option ID = 10678]

68)

Parmi les auteurs suivants qui appartiennent a I'école réaliste ?



(1) Stendhal. Balzac. Flaubert (2) Hugo. Musset, Vigny

(3) Ronsard, Du Bellay. De Baif (4) Racine. Corneille, Molieré

[Question ID = 2804][Question Description = Q68_French_SHAAN_NOV21]
1. 1 [Option ID = 10679]
2. 2 [Option ID = 10680]
3. 3 [Option ID = 10681]
4. 4 [Option ID = 10682]

69) Reliez les éléments de la Colonne I avec ceux de la Colonne 1T :

Colonne I Colonne II
(Auteur) (Euvre)
(A) IONESCO ()  Le Mariage de Figaro
(B) VIGNY (IT) Rhinoceros
(C) BEAUMARCHAIS (ITIT) On ne badine pas avec l'amour
(Dy MUSSET (IV) Chatterton

Cochez la bonne réponse :

(1)  (A-D. B)-ID. (O)-IID. (D)-(IV)
(2) (A)-(ID). (B)-(IV). (C)-(D), (D)-(I1D)
(3)  (A)-IID. (B)-(V), (O)-(1I), (D)-(D
4)  (A)-ID), B)-ID). (O)-(D). M)-IV)

[Question ID = 2805][Question Description = Q69_French_SHAAN_NOV21]
1. 1 [Option ID = 10683]
2. 2 [Option ID = 10684]
3. 3 [Option ID = 10685]
4. 4 [Option ID = 10686]

70) " Reliez les éléments de la Colonne 1 avec ceux de la Colonne II :
Colonne I Colonne II
(Auteur) ((Euvre)
(A) Marguerite DURAS (I Bonjour Tristesse
(B) Frangoise SAGAN (I) Mémoires d Hadrien
(C) Marguerite YOURCENAR (III) Mémoires dune Jeune fille rangée
(D) Simone DE BEAUVOIR (IV) India Song

Cochez la bonne réponse :

(1)  (A-O. B-IID, (C)-(ID. (D)-IV)
(2)  (A)-aV), (B)-(ID), (C)-(ID), (D)-(T)
(3) (A-O. B®-IAV), (C)-a1D). (D)-(ID)
@ (A)-aV). (B)-M. (O)-ID, (D)-I1D)

[Question ID = 2806][Question Description = Q70_French_SHAAN_NOV21]
1. 1 [Option ID = 10687]
2. 2 [Option ID = 10688]
3. 3 [Option ID = 10689]
4. 4 [Option ID = 10690]

71) " Reliez les éléments de la Liste I avec ceux de la Liste I :



Lilste 1 Liste 11

(A) Beaumarchais (I) La curiosité nait de la jalousie
(B) Moliere (IT) Bien écouter, c'est presque répondre
(C) La Fontaine (ITIT) L'amour, n'est que la roman du cceur,

c'est le plaisir qui en est I'historie

(D) Marivaux (IV) Tout flatteur vit aux dépens de celui

quil I'écoute
Cochez la bonne réponse :

(1 (A)-ID). (B)-(IID). (C)-(D). (D)-AV)

2 A)-a@v). (B)-(ID). (C)-(D). (D)-(III)

(3 (A)IID), (B)-(IV). (C)-(II). (D)-(I)

4 (A)-I1I). (B)-(I). (C)-(IV), (D)-(II)
[Question ID = 2807][Question Description = Q71_French_SHAAN_NOV21]
1. 1 [Option ID = 10691]
2. 2 [Option ID = 10692]

3. 3 [Option ID = 10693]
4. 4 [Option ID = 10694]

72)  Reliez les éléments de la Liste I avec ceux de la Liste IT :
Liste T Liste IT
(A) Livres ()  Quincallierie
(B) Viande (I) Librairie
(C) Produits laitiers (III) Crémerie
(D) Outils (TIV) Boucherie

Cochez la bonne réponse :

(1 (A-0), B)-IID), (C)-(IV). (D)-(ID)
(2)  (A-I). (B)-(IV). (C)-(III). (D)-T)
(3)  (A)-AV). (B)-(IID), (O)-1@). (D)-(IL)
4 (A-aID. B)-ID. (C)-aV). D)-(D

[Question ID = 2808][Question Description = Q72_French_SHAAN_NOV21]
1. 1 [Option ID = 10695]
2. 2 [Option ID = 10696]
3. 3 [Option ID = 10697]
4. 4 [Option ID = 10698]

7
3) Reliez les éléments de la Colonne I avec ceux de la Colonne 11 :

Colonne [ Colonne IT
(A) Sung as a bugin arug (I) C’est un empécheur de tourner en rond
(B) He's a dog in the manger (I) Comme un cog en pate

(C) Don't look a gift horse in the mouth (III) 1l était sur des charbons ardents

(D) He was like a cat on a hot tin roof (IV) A cheval donné on ne regarde pas la
bride

Cochez le bon choix :

(1 A-O. B)-1D. (O)-1V). (D)-AID



(2)  @A-an. B)-@. (CO)-AV), (D)-I1D
(3)  (A)-AID. (B)-1I). (O)-(IV). (D)-(D
@  (A-IV). (B)-D. (O)-aAD). (D)-aII)

[Question ID = 2809][Question Description = Q73_French_SHAAN_NOV21]
1. 1 [Option ID = 10699]
2. 2 [Option ID = 10700]
3. 3 [Option ID = 10701]
4. 4 [Option ID = 10702]

74 : . :
) Par guelles options remplit-on les cases blanches dans la phrase suivante?
== le savoir, cet homme qui un parfum épicé. m'a glacé le
en allant avec un sourire. ==

Cochez la bonne réponse :

(1) S'en. Sent. Sans, Sang (2) Sent, Sang, S'en, Sans

(3 Sang, Sent, Sang, S'en (4) Sang, S'en, Sans, Sent

[Question ID = 2810][Question Description = Q74_French_SHAAN_NOV21]
1. 1 [Option ID = 10703]
2. 2 [Option ID = 10704]
3. 3 [Option ID = 10705]
4. 4 [Option ID = 10706]

75)  Associez les éléments de la Colonne I avec ceux de la Colonne II :
Colonne I Colonne IT
(A) Les mots du discours () Henri Besse
(B) Situations d’oral (IT) Sophie Moirand
(C) Situations d'écrit (IIT) Monique Lebre-Peytard

(D) Meéthodes et pratigues des manuels de (IV) Oswald Ducrot
Langue

Cochez le bon choix :

1 (A)-O. B)-ID. (C)-IV). (D)-IID
(2)  A-an. B)-@). (O-IID. (D)-aV)
(3)  (A)-0V). (B)-(IID). (C)-(II). (D)-()
4 (A)-AID. B)-1I). (C)-D. (D)-AV)

[Question ID = 2811][Question Description = Q75_French_SHAAN_NOV21]
1. 1 [Option ID = 10707]
2. 2 [Option ID = 10708]
3. 3 [Option ID = 10709]
4. 4 [Option ID = 10710]

76) A partir de I'énoncé <= Nos tables ne sont pas réservées pour la féte de Noél cette année==,

faites correspondre les éléments de la Colonne I avec ceux de la Colonne II :

Colonne I Colonne I1
(A) Nos tables (T} Syntagme Verbal
(B) (On) a réservé (I} Syntagme adjoint

(C) Pour la féte de Noél cette année (III) Syntagme nominal



Cochez la bonne réponse :

(1 (A-AID. (B)-M. (C)-(ID)
@ (A)-aD, (B)-(D). (C)-(I1L)
3y (A)-AD, (B)-ID. (C)-(D)
@ (A1), (B)-1D). (C)-(III)

[Question ID = 2812][Question Description = Q76_French_SHAAN_NOV21]
1. 1 [Option ID = 10711]
2. 2 [Option ID = 10712]
3. 3 [Option ID = 10713]
4. 4 [Option ID = 10714]

7 Reliez les éléments de la Colonne I avec ceux de la Colonne 1T :

Colonne [ Colonne IIT
(A) Tétu Comme (I} T'eau de roche
(B) Clair Comme (II)  un beeuf
(C) Pleurer Comme (ITI) une mule
(D) Travailler Comme (TIV) une Madeleine

Cochez la bonne réponse :

(1) (A)-D. (B)-D. (C)-(IV). (D)-ID)
(2)  (A-av), (B)-(ID). (C)-(IID). (D)-(D)
(3)  (A)-dD). (B)-dID. (C)-(D. (D)-IV)
@  @-O. B)-1D. (O-(IID. (D)-IV)

[Question ID = 2813][Question Description = Q77_French_SHAAN_NOV21]
1. 1 [Option ID = 10715]
2. 2 [Option ID = 10716]
3. 3 [Option ID = 10717]
4. 4 [Option ID = 10718]

78) Reliez les éléments de la Colonne I avec ceux de la Colonne IT :

Colonne I Colonne II
(A) Avoir I'air lointain () Se défendre vaillament
(B) Un homme collant (II) Daistrait
(C) Maison de plaisance (II) Ennuyeux
(D) Vendre cher sa vie (IV) Habitation secondaire

Cochez la bonne réponse :

(1) (A)-aD. (B)-D). (O-IV), (D)-(IIL
2 Q-av. B)-D). (C)-1D). (D)-AID
(3 (A)-aD. (B)-I1D). (C)-aAV), (D)-(D
@ (A-aID. (B)-IV), (O)-1). (D)-(I)

[Question ID = 2814][Question Description = Q78_French_SHAAN_NOV21]
1. 1 [Option ID = 10719]
2. 2 [Option ID = 10720]
3. 3 [Option ID = 10721]
4. 4 [Option ID = 10722]



79) Reliez les éléments de la Liste I avec ceux de la Liste IT :

Liste T Liste T
(A) Les Caractéres () Madame de la Fayette
(B) Zaide (II) La Bruyére
(C) Les Commencements (IIT) Montherlant
(D) La Reine Morte (IV) Héléne Cixous

Cochez la bonne réponse :

(1)  (A)-AV). (B)-(D). (C)-(II). (D)-(IIT)

(2) (A)-(1D). (B)-(I), (C)-(IV), (D)-(I1T)

(3  A-dID). (B)-IV). (C)-(IL). (D)-(D)

(4 (A)-@). (B)-III), (C)-(ID). (D)-(IV)
[Question ID = 2815][Question Description = Q79_French_SHAAN_NOV21]
1. 1 [Option ID = 10723]
2. 2 [Option ID = 10724]

3. 3 [Option ID = 10725]
4. 4 [Option ID = 10726]

80 ;
) Reliez les éléments de la Colonne I avee ceux de la Colonne 1T :

Colonne I Colonne IT
(A) Vanuatu (I) Mahorais
(B) Caraibes (II) Bichlamar
(C) Louisiane (III) Créole
(D) Mayotte (IV) Cajun

Cochez la bonne réponse :

(1 (A-AV). (B)-ID), (O)-dD). (D)-(D
(2  (A)-ID. B)-ID. (O-(D. D)-aV)
3  A-O. B-IV). (C)-1ID, (D)-ID)
4 A-D. (B)-D). (C)-(IV). MD)-(D

[Question ID = 2816][Question Description = Q80_French_SHAAN_NOV21]
1. 1 [Option ID = 10727]
2. 2 [Option ID = 10728]
3. 3 [Option ID = 10729]
4. 4 [Option ID = 10730]

81) Quel est le statut official de Guadeloupe?
(1) Un département d'Outre-mer (2) Un territoire d' Outre-mer
(3) Une commune d'outre-mer (4) Une région d'Outre-mer

[Question ID = 2817][Question Description = Q81_French_SHAAN_NOV21]
1. 1 [Option ID = 10731]
2. 2 [Option ID = 10732]
3. 3 [Option ID = 10733]
4. 4 [Option ID = 10734]

82)

p— - T e e - L. . - e - - -



e quel procede ae Lraductlon 5 agll-11 dars 1 exelllple suivant .

— He cleared his throat

— 11 s’éclaireit la voix

(1) Calque (2) Modulation
(3) Adaptation (4) Modalisation

[Question ID = 2818][Question Description = Q82_French_SHAAN_NOV21]
1. 1 [Option ID = 10735]
2. 2 [Option ID = 10736]
3. 3 [Option ID = 10737]
4. 4 [Option ID = 10738]

83)  Reliez les &léments de la Colonne I avec ceux de la Colonne II :
Colonne I Colonne II
(A) Tenir le coup (I) Téléphona
(B) Donner un coup de fil (II) Se coiffer rapidement
(C) Se donner un coup de peigne (III) Etre atteint au moral ou au physique
(D) En prendre un coup (IV) Résister

Cochez la bonne réponse :

(1) (A)-aV). (B)-(D. (C)-(I1I), (D)-(I)
(2)  A)-av). (B)-(1D). (O)-1). (D)-(ID
(3)  (A)-aV). (B)-(D. (C)-(I). (D)-(IIL)
@ (A B-AD. (O)-(IV). (D)-(II)

[Question ID = 2819][Question Description = Q83_French_SHAAN_NOV21]
1. 1 [Option ID = 10739]
2. 2 [Option ID = 10740]
3. 3 [Option ID = 10741]
4. 4 [Option ID = 10742]

84)  Reliez les éléments de la Liste I avec ceux de la Liste IT :
Liste I Liste IT
(A) Freédéric Moreaux (). Romain Rolland
(B) Jean Christophe (I) Balzac
(C) Julien Sorel (IIT) Gustave Flaubert
(D) Madame Vauguer (TV) Stendhal

Cochez la bonne réponse :

(1) (A)-(IV), (B)-(I1D). (C)-(II). (D)-(I)

(2) (A4)-ID). (B)-(IV). (C)-(D), (D)-(IID)

(3) (A)-(D). (B)-(11D). (C)-(1I), (D)-(IV)

(4) (A)-I1ID), (B)-(@). (C)-(IV), (D)-(IT)
[Question ID = 2820][Question Description = Q84_French_SHAAN_NOV21]
1. 1 [Option ID = 10743]
2. 2 [Option ID = 10744]

3. 3 [Option ID = 10745]
4. 4 [Option ID = 10746]



85)

Lisez les deux énoncés ci-dessous et cochez le bon choix :

M : Jodelle crée la tragédie francaise avec Cléopitre et la comédie nouvelle avec Eugéne.
(ID) : Jodelle a écrit tragédie qui est considérée meilleure que les ceuvres de garnier.

Cochez le bon choix :

(1) Les deux énoncés (énonce I et énoncé IT) sont vrais.
(2) Les deux énoncés (énoncé I et énoncé IT) sont faux.
(3 L’énoncé I est vral mais I'énoncé II est faux.
4 L'énoncé I est faux mais I'énoncé IT est vrai.

[Question ID = 2821][Question Description = Q85_French_SHAAN_NOV21]

AW N =

86)

1 [Option ID = 10747]
2 [Option ID = 10748]
3 [Option ID = 10749]
4 [Option ID = 10750]

Lisez les deux énoncés ci-dessous et cochez le bon choix :

(I : La didactique de la traduction cherche les voies d'accés au savoir et tente de

répondre a la question : Que faut-il enseigner pour former des traducteurs?

(ID) : la didactique de la traduction a pour objet de définir le programme de traduction

et le contenu des cours.

Cochez le bon choix :

(1) Les deux énoncés (énonce I et énonce IT) sont vrais.
(2) Les deux énoncés (énoncé I et énoncé IT) sont faux.
(3) L'énoncé I est vral mais I'énoncé II est faux.
(4) L'énoncé I est faux mais I'énoncé IT est vral.

[Question ID = 2822][Question Description = Q86_French_SHAAN_NOV21]

A W N -

87)

1 [Option ID = 10751]
2 [Option ID = 10752]
. 3 [Option ID = 10753]
4 [Option ID = 10754]

Lisez les deux énoncés ci-dessous et cochez le bon choix :

{1 La cohérence se situe sur le plan de la langue.

{a: La cohésion se situe sur le plan logique. conceptual.

Cochez le bon choix :

(1) Les deux énoncés (énoncé I et énoncé IT) sont vrais.
(2) Les deux énoncés (énoncé I et énoncé II) sont faux.

(3) L'énoncé I est vral mais I'énonecé II est faux.



(4)

l.enonce 1 est Iaux mais | enonce 11 est vral.

[Question ID = 2823][Question Description = Q87_French_SHAAN_NOV21]

A W N -

88)

(I :

(IT) :

1 [Option ID = 10755]
2 [Option ID = 10756]
3 [Option ID = 10757]
4 [Option ID = 10758]

Lisez les deux énoncés ci-dessous et cochez le bon choix :

Le cadre européen commun de référence offre une base commune pour
I'élaboration de programmes de langues vivantes. d'examens. de manuels en

Europe et aux Etats Unis.

Le cadre européen commun de référence a fourni un baréme pour I'évaluation de

la compétence générale dans une langue étrangére.

Cochez le bon choix :

(1)
(2)
(3)

(4)

Les deux énoncés (énoncé I et énoncé II) sont vrais.
Les deux énoncés (énoncé I et énoncé IT) sont faux.
L'énoncé I est vral mais I'énoncé II est faux.

L'énoncé I est faux mais 'énoncé II est vral.

[Question ID = 2824][Question Description = Q88_French_SHAAN_NOV21]

A W N -

1 [Option ID = 10759]
2 [Option ID = 10760]
3 [Option ID = 10761]
4 [Option ID = 10762]

89) Lisez les deux énoncés ci-dessous et cochez le bon choix :

(I :

(IT) :

Les méthodes audio-visuelles de “deuxiéme génération” telle que De Vive Voix
évoluent vers une grande souplesse d'utilisation. proposant des dialogues plus

proches de la réalite.

Les méthodes audio-visuelles proposent les activités destinées a fixer des
structures qui font appréhender & l'éléve le fonctionnement de la langue

F i
etrangere.

Cochez le bon choix :

(1
(2)
(3)
4)

Les deux énoncés (énoncé I et énoncé IT) sont vrais.
Les deux énoncés (énoncé I et énoncé IT) sont faux.
L'énoncé I est vrai mais I'énonceé IT est faux.

L'énonceé I est faux mais I'énonce II est vrai.

[Question ID = 2825][Question Description = Q89_French_SHAAN_NOV21]

A W N -

90)

(I):

1 [Option ID = 10763]
2 [Option ID = 10764]
3 [Option ID = 10765]
4 [Option ID = 10766]

Lisez les deux énoncés et cochez le bonne réponse :

Dans la perspective de I'approche communicative, le programme d'étude doit étre



modifiable. souple et fonctionnel.

(II) : L'approche communicative se préoccupe de la matiére a enseigner.

Cochez la bonne réponse :

(1) Les deux énonceés (énonceé I et énoncé II) sont vrais.
(2) Les deux énoncés (énoncé I et énoncé II) sont faux.
(3) Enoncé I est vral mais énoncé I1 est faux.
(4) Enoncé I est faux mais énoncé II est vral.

[Question ID = 2826][Question Description = Q90_French_SHAAN_NOV21]

AW N =

1 [Option ID = 10767]
2 [Option ID = 10768]
3 [Option ID = 10769]
4 [Option ID = 10770]

Topic:- 39FRENCH_B

1)

Lisez le texte sulvant et répondez aux questions qui le suivent :

Nous étions a I'Etude. quand le Proviseur entra. suivi d'un nouveau habillé en bourgeols et
dun garcon de classe qui portait un grand pupitre. Ceux qui dormaient se réveillérent, et

chacun se leva comme surpns dans son travail.
Le Proviseur nous fit signe de nous rasseolr ; puis. se tournant vers le maitre d'études :

— Monsieur Roger, lui dit-il & demi-voix. voici un éléve que je vous recommande, 1l entre en
cinquiéme. S1 son travail et sa conduite sont méritoires, 1l passera dans les grands. ol

l'appelle son dage.

Resté dans l'angle. derriére la porte. si bien qu'on l'apercevait & peine. le nouveau était un
gars de la campagne. d'une quinzaine d'années environ, et plus haut de taille qu'aucun de
nous tous. Il avait les cheveux coupés droit sur le front, comme un chantre de village, I'air
raisonnable et fort embarrassé.

Qu1 Portait le Pupitre?

(1)
3

Proviseur (2) Gargon
Bourgeois (4) M. Roger

[Question ID = 2827][Question Description = Q91_French_SHAAN_NOV21]

A w N =

2)

1 [Option ID = 10771]
2 [Option ID = 10772]
3 [Option ID = 10773]
4 [Option ID = 10774]

Lisez le texte suivant et répondez aux questions qui le suivent :

Nous étions 4 I'Etude. quand le Proviseur entra. suivi dun nouveau habillé en bourgeols et
dun garcon de classe qui portait un grand pupitre. Ceux qui dormaient se réveillérent, et
chacun se leva comme surprns dans son travail.

Le Proviseur nous fit signe de nous rasseolr ; puis. se tournant vers le maitre d'études :

— Monsieur Roger, lui dit-il & demi-voix. voici un éléve que je vous recommande, 1l entre en
cinquiéme. S1 son travail et sa conduite sont méritoires, 1l passera dans les grands. ol

l'appelle son age.

Resté dans l'angle. derriére la porte. si bien qu'on l'apercevait & peine, le nouveau était un
gars de la campagne. d'une quinzaine d'années environ, et plus haut de taille qu'aucun de



nous tous. Il avait les cheveux coupés droit sur le front, comme un chantre de village, I'air
raisonnable et fort embarrassé.

Qui se réveillérent?

(1)
(3)

Les éléves (2) Les travailleurs

Les maitres (4) Les chevals

[Question ID = 2828][Question Description = Q92_French_SHAAN_NOV21]

A w N =

3)

1 [Option ID = 10775]
2 [Option ID = 10776]
3 [Option ID = 10777]
4 [Option ID = 10778]

Lisez le texte sulvant et répondez aux questions qui le suivent :

Nous étions a I'Etude. guand le Proviseur entra. suivi dun nouveau habillé en bourgeols et
dun garcon de classe qui portait un grand pupitre. Ceux qui dormaient se réveillérent, et

chacun se leva comme surprs dans son travail.
Le Proviseur nous fit signe de nous rasseolr ; puils. se tournant vers le maitre d'études :

— Monsieur Roger, lul dit-il & demi-voix. voici un éléve que je vous recommande, 1l entre en
cinquiéme. S1 son travail et sa conduite sont méritoires, 1l passera dans les grands. ol

l'appelle son age.

Resté dans l'angle. derriére la porte. si bien qu'on l'apercevait & peine, le nouveau était un
gars de la campagne. d'une quinzaine d'années enviren, et plus haut de taille qu'aucun de
nous tous. Il avait les cheveux coupés droit sur le front, comme un chantre de village, 1'air
raisonnable et fort embarrassé.

Qui est Monsieur Roger?

(@)
3

Celul qui s'habillait en bourgeois {(2) Le narrateur

Le proviseur (4) Le Maitre d'étude

[Question ID = 2829][Question Description = Q93_French_SHAAN_NOV21]

A W N -

4)

1 [Option ID = 10779]
2 [Option ID = 10780]
3 [Option ID = 10781]
4 [Option ID = 10782]

Lisez le texte sulvant et répondez aux questions qui le suivent :

Nous étions a I'Etude. quand le Proviseur entra. suivi d'un nouveau habillé en bourgeols et
dun garcon de classe qui portait un grand pupitre. Ceux qui dormaient se réveillérent, et

chacun se leva comme surpns dans son travail.
Le Proviseur nous fit signe de nous rasseolr ; puis. se tournant vers le maitre d'études :

— Monsieur Roger, lui dit-il & demi-voix. voici un éléve que je vous recommande, 1l entre en
cinquiéme. S1 son travail et sa conduite sont méritoires, 1l passera dans les grands. ol

l'appelle son dage.

Resté dans l'angle. derriére la porte. si bien qu'on l'apercevait & peine. le nouveau était un
gars de la campagne. d'une quinzaine d'années environ, et plus haut de taille qu'aucun de
nous tous. Il avait les cheveux coupés droit sur le front, comme un chantre de village, I'air
raisonnable et fort embarrassé.

Qui était le “nouveau habillé en bourgeois™?

(1)

Fis3 %

Un campagnard (2) Un ouvrier
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[Question ID = 2830][Question Description = Q94_French_SHAAN_NOV21]

A W N =

3)

1 [Option ID = 10783]
2 [Option ID = 10784]
3 [Option ID = 10785]
4 [Option ID = 10786]

Lisez le texte suivant et répondez aux questions qui le suivent :

Nous étions 4 I'Etude. quand le Proviseur entra. suivi dun nouveau habillé en bourgeols et
dun garcon de classe qui portait un grand pupitre. Ceux qui dormaient se réveillérent, et
chacun se leva comme surprns dans son travail.

Le Proviseur nous fit signe de nous rasseolr ; puis. se tournant vers le maitre d'études :

— Monsieur Roger, lui dit-il & demi-voix. voici un éléve que je vous recommande, 1l entre en
cinquiéme. S1 son travail et sa conduite sont méritoires, 1l passera dans les grands. ol

l'appelle son age.

Resté dans l'angle. derriére la porte. si bien qu'on l'apercevait & peine, le nouveau était un
gars de la campagne. d'une quinzaine d'années environ, et plus haut de taille qu'aucun de
nous tous. Il avait les cheveux coupés droit sur le front, comme un chantre de wvillage, I'air
raisonnable et fort embarrassé.

Que signifie ‘un chantre™

1
(3)

Un agriculteur (2) Un homme raisonnable

Un petit magasin (4) TUn chanteur

[Question ID = 2831][Question Description = Q95_French_SHAAN_NOV21]

AW N =

Topi

1)

1 [Option ID = 10787]
2 [Option ID = 10788]
3 [Option ID = 10789]
4 [Option ID = 10790]

c:- 39FRENCH_C

Lisez le texte et répondez aux questions qui le suivent :

Madeleine Biardeau publie d'abord des traductions d’ceuvres philosophiques qui préparent.
accompagnent ou prolongent sa thése. Elle est ainsi amenée a élaborer la notion d'orthodoxie
appliquée au brahmanisme: C'est la fidélité aux prescriptions du Veda (qui consistent
principalement en instructions sur rites sacrificiels) combinée a la quéte d'un salut congu
comme une <<délivrance>> une sortie hors du monde des actes et de leurs conséquences.
Madeleine Biardeau pergoit que les spéculations et controverses des philosophes ne
prennent sens que sl on les éclaire par les textes prescriptifs ou narratifs dans lesquels
s'exprime une doctrine des =< buts de 'homme==, de l'organisation de la société et du
cosmos. Dés lors commence pour elle la deuxiéme phase du cheminement de sa pensée : elle
s'attache a explorer systématiquement, pour mettre en lumiére leur cohérence, les

folsonnants corpus de mythes que sont les Purana.

Selon le texte, que signifie Torthodoxie™

(1)
(2)
(3)
(4)

fidélité aux principes du Christianisme
fidélité aux prescriptions de Veda
fidélité aux prescriptions des prétres d'une église régionale

fidélité & la réligion

[Question ID = 2832][Question Description = Q96_French_SHAAN_NOV21]

1. 1]

Option ID = 10791]



2. 2 [Option ID = 10792]
3. 3 [Option ID = 10793]
4. 4 [Option ID = 10794]

2)

Lisez le texte et répondez aux questions qui le suivent :

Madeleine Biardeau publie d'abord des traductions d'ceuvres philosophiques qui préparent.
accompagnent ou prolongent sa thése. Elle est ainsi amenée a élaborer la notion d'orthodoxie
appliquée au brahmanisme: C'est la fidélité aux prescriptions du Veda (qui consistent
principalement en instructions sur rites sacrificiels) combinée a la quéte d'un salut congu
comme une <<délivrance>> une sortie hors du monde des actes et de leurs conséquences.
Madeleine Biardeau pergoit que les spéculations et controverses des philosophes ne
prennent sens que sl on les éclaire par les textes prescriptifs ou narratifs dans lesquels
s'exprime une doctrine des =< buts de 'homme==>, de l'organisation de la société et du
cosmos. Dés lors commence pour elle la deuxiéme phase du cheminement de sa pensée : elle
s'attache a explorer systématiquement, pour mettre en lumiére leur cohérence, les

folsonnants corpus de mythes que sont les Purana.

Que signifie ‘prolonger la thése™

(1)
(3)

Poursuivre les 1dées (2) Restreindre les idées

Abréger les 1dées (4) Refuter les idées

[Question ID = 2833][Question Description = Q97_French_SHAAN_NOV21]
1 [Option ID = 10795]
2 [Option ID = 10796]
3 [Option ID = 10797]
4 [Option ID = 10798]

AW N =

3)

Lisez le texte et répondez aux questions qui le suivent :

Madeleine Biardeau publie d'abord des traductions d'ceuvres philosophigques qui préparent,
accompagnent ou prolongent sa thése. Elle est ainsi amenée a élaborer la notion dorthodoxie
appliquée au brahmanisme: Clest la fidélité aux prescriptions du Veda (gquil consistent
principalement en instructions sur rites sacrificiels) combinée 4 la quéte d'un salut congu
comme une <=deélivrance>> une sortie hors du monde des actes et de leurs conséquences.
Madeleine Biardeau pergoit que les spéculations et controverses des philosophes ne
prennent sens que sl on les éclaire par les textes prescriptifs ou narratifs dans lesquels
s'exprime une doctrine des << buts de l'homme=>, de l'organisation de la société et du
cosmos. Dés lors commence pour elle la deuxiéme phase du cheminement de sa pensée : elle
s'attache & explorer systématiquement, pour mettre en lumiére leur cohérence. les

foisonnants corpus de mythes que sont les Purana.

Qui signifie ‘cosmos™?

)
(2)
3)

(4)

Les 1dées philosophigques
Les institutions religieuses
La voie lactée

Lunivers considéré comme un systéme ordonné

[Question ID = 2834][Question Description = Q98_French_SHAAN_NOV21]
1 [Option ID = 10799]
2 [Option ID = 10800]
3 [Option ID = 10801]
4 [Option ID = 10802]

A wN =

4)

Lisez le texte et répondez aux questions qui le suivent :



Madeleine Biardeau publie d'abord des traductions dceuvres philosophiques qui préparent,
accompagnent ou prolongent sa thése, Elle est ainsi amenée a élaborer la notion d'orthodoxie
appliquée au brahmanisme: Cest la fidélité aux prescriptions du Veda (qui consistent
principalement en instructions sur rites sacrificiels) combinée a la quéte dun salut congu
comme une <<délivrance=> une sortie hors du monde des actes et de leurs conséquences.
Madeleine Biardeau pergoit que les spéculations et controverses des philosophes ne
prennent sens que si on les éclaire par les textes prescriptifs ou narratifs dans lesquels
s'exprime une doctrine des << buts de I'homme>=, de l'organisation de la société et du
cosmos. Dés lors commence pour elle la deuxiéme phase du cheminement de sa pensée : elle
s'attache a explorer systématiquement, pour metire en lumiere leur cohérence. les

foisonnants corpus de mythes que sont les Puréana.

Qui signifie ‘controverses’ des philosophes?

(1)
(2)
(3)

(4)

Altercations
Débat et contestation

Dispute violente

Scandale

[Question ID = 2835][Question Description = Q99_French_SHAAN_NOV21]
1 [Option ID = 10803]
2 [Option ID = 10804]
3 [Option ID = 10805]
4 [Option ID = 10806]

A w N -

5)

Lisez le texte et répondez aux questions qui le suivent :

Madeleine Biardeau publie d'abord des traductions d'eceuvres philosophiques qui préparent,
accompagnent ou prolongent sa thése. Elle est ainsi amenée a élaborer la notion d'orthodoxie
appliquée au brahmanisme: C'est la fidélité aux prescriptions du Veda (qui consistent
principalement en instructions sur rites sacrificiels) combinée a la quéte d'un salut congu
comme une <<deélivrance>> une sortlie hors du monde des actes et de leurs conséquences.
Madeleine Biardeau pergoit que les spéculations et controverses des philosophes ne
prennent sens que sl on les éclaire par les textes prescriptifs ou narratifs dans lesquels
s'exprime une doctrine des << buts de 'homme==>, de l'organisation de la société et du
cosmos. Dés lors commence pour elle la deuxiéme phase du cheminement de sa pensée : elle
g'attache a explorer systématiquement, pour mettre en lumiére leur cohérence, les

foisonnants corpus de mythes que sont les Purana.

Qui signifie “texte narratif”?

(1)
(2
3

(4)

Un texte qui présente un récit
Un texte qui a pour origin religion
Un texte qui est écrit par un écrivain célébre

Un texte gqul enseigne le catéchisme

[Question ID = 2836][Question Description = Q100_French_SHAAN_NOV21]

A wN =

T
2]
30
41

Option ID = 10807]
Option ID = 10808]
Option ID = 10809]
Option ID = 10810]

Topic:- GP_Set2_C

1) Read the passage carefully and answer the question that follow



India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements



(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only

(B) @EEAtE-3TTSY
(C) =amR-gada
(D) =i To

A= fou o faweul ® § wE 3 1 999 it

(1) & (A) #(D)
(2) =& (A), (C) =T (D)
(3) A (B), (C) 317 (D)

(4) == (B) 3 (D)

[Question ID = 3557][Question Description = Q46_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13691]
2.2

[Option ID = 13692]
3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is



also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.
India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets
(B) Yoga
(C) Cricket
(D) Ramayan
(E) Sanskrit
Choose the correct answer from the options given below :
(1) (A) only  (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only
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(C) Toere
(D) TEHE
(E) ==Fd
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(1) == (4) (2)  =ad (A). (B). (C) #1 (D)
(3) = (A) ¥ (D) (4) =ae (A), (B) 3 (E)

[Question ID = 3558][Question Description = Q47_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13695]
2 [Option ID = 13696]
3 [Option ID = 13697]
4 [Option ID = 13698]

A w N =

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?
(1) Digital India  (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy

Frfafaa 9 @ =4 aia Fi 93 wiw-Tufa F1 wefeia 78 w27
(1)  Tsfaes sfem (2) Fue 9nd
(3)  =ME-TEE (4)  =m-geALfa

[Question ID = 3559][Question Description = Q48_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13699]
2 [Option ID = 13700]
. 3 [Option ID = 13701]
4 [Option ID = 13702]

A W N -

4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology
(B) Folklore
(C) Tourism
(D) Yoga
(E) Education
Choose the correct answer from the options given below :
(1) (A), (C), (D) and (E) only  (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only  (4) (B), (C), (D) and (E) only

TS FI-IRIA ATAEEE F HIE 291 F A GF TRH-TEH -1 & T 7

(A) T
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(1) = (A). (C). (D) # (E) (2) Fa (A), (B). (C) 31 (E)
(8) == (A), (B) #1 (E) (4) == (B). (C). (D) ¥R (E)

[Question ID = 3560][Question Description = Q49_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13703]
2. 2 [Option ID = 13704]
3. 3 [Option ID = 13705]
4. 4 [Option ID = 13706]

5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a



source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries

(3) India’s cultural hegemony

(4) India’s relations with BRICS countries
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[Question ID = 3561][Question Description = Q50_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13707]
2. 2 [Option ID = 13708]
3. 3 [Option ID = 13709]
4. 4 [Option ID = 13710]

Topic:- GP_Set2_A

1) Consider the following table that shows the percentaze (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs z0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% e
October 8% ih
November 12% il
December 16% e

AT aifern 1 & © 2 fogd vk faghar & grr 9enms 2019 © fa@est 2019 9% == 7o FHsft g
% faawor 1 ufqemar a1 HP #in DELL w3t = a9 sty 9 fafim fefi et = = #1 s
Zon T 2| g st | T adft S @ i 5w @e 45,000 (Fartom wAR) 20 e § f2o o
FTHS % ATUE T YTF H I G

DELL i
I 17% 8:7
T 29% 4:5
e 25% 3:2
ATz 8% 7:5
AT 12% 1:8
famr 16% 7:9

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL =51 = g 9o 31l fomesn § 59 713 ff5 gt 1 | 1 @gam 731 27

(1) 119:145 (2) 116:135



(3) 119:135 (4 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) (Consider the following table that shows the percentage (%) distmbution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.9
August 22% 4:5
September 2h% 3 52
Octoher 8% 1.5
November 12% T:8
December 16% 7:9

freAiRa ifer 1 =99 © 2 fogs vk faghan & g7 978 2019 § f2Eest 2019 9% 5= 70 Ff o
% T it afawma 991 HP 2R DELL =051 % T0W #iaig 1 fefm &5 oo = &= & oo
FIET A B T st g e adt el gt i g wer 45,000 (darfem www) 21 Ao | fag
S = TR T 97 1 I 3

IEEiR:upeafcal:tcm e e R et

DELL i
FemE 17% 8:7
3T 22% 4:5
T 25% 3:2
A 3% 7:5
Far 12% 7:8
femmm 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

T TR § HP Fo01 F 35% 5 Foes gz e At s 7de § HP Fert F R e @

fort g2 = o= o7

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]



4. 4 [Option ID = 13718]
3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.3
Auguat 22% 4:5
September 25% 3:2
October 8% Wk
November 12% i
December 16% 7:9

FreAitea Ao 1 w9 @ 20 Tomd v fagkan % g S=0E 2019 ° feomsw 2019 7% == o sl @
% foao &1 wfawmar @ HP @1 DELL #0af+=1 & @99 s1ata 7 ffia i @t % &= =1 oqgom
F9ET T 7| S arad | T gt G @ i 3 @e 45,000 (Farfow wAR) 21 e § fau o
HATHS o AR T UTH T I D

Tt worERT = AT - T v e

DELL i
FeATS 17% 8:7
BT 22% 4:5
T 25% 3:2
T 8% T:5
AT 12% 7:8
e 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

R A%z % = DELL wevet % faear 3 v ffF @ w5, 433 %1 = we R 9 5w mEe

3 fageen 1 Fopee e fovem ?

(1) ¥ 6.49.900 (2) %6.45.900
(3) £6.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720]
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total

IR ot AR AT e . ooy -y 7 o PO PG B (. TSt o R il o Rt e T IR PRLe T e R e et (DT EY T P e e b it 1 N 4 ¥ o R - ACSTLCr e Ne EPCICML ey T Ty Sy
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contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.3
Auguat 22% 4:5
September 25% d
October 8% Lk
November 12% i
December 16% 7:9

forAitera atfern =1 oI 4 20 Tomd v fagkan % g =€ 2019 © fowmsw 2019 @ == o Fsht g
% foao i wfawmar aon HP @i DELL %021 & @99 s1atg 7 ffia i @t + o= =1 oqoma
9T T 2| S s | T aft S @ i 59 @e 45,000 (Farfe =Aw) 2 e @ fau o
HATHS T AR T UTH T I D

S T F ATE- T

DELL =i
TS 17% 8:7
ST 22% 4:5
o 25% 32
TR 8% 7:5
AT 12% 7:8
fommm 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

AT % HeH H HP #0551 s e i @ovest i we fgoen % udH ° HP #eEi % gen se T

e o b . T i A9
TA=T HIITERT =h1 TEAT =/ T=ho -1 90904 & ¢

() 110% (2) 140%
(3) 150% (4)  130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13723]
2 [Option ID = 13724]
3 [Option ID = 13725]
4 [Option ID = 13726]

A wWw N =

5) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentace (%) | Ratio of




Distribution HP to DELL
July 17% 8:7
Auguat 22% 4:5
September 25% ik
October 8% W
November 12% i
December 16% e

it aferr 1 w2 © 2 fomd sk faghar & gy genrs 2019 ° f2asw 2019 @ == 7 Fsft Fmoe
% foao i wfawmar aon HP @i DELL %021 & @99 s1atg 7 ffia i @t + o= =1 oqoma
9T T 2| S s | T aft S @ i 59 @e 45,000 (Farfe =Aw) 2 e @ fau o
HATHS F HATUR T qTT T I A

IEEiR:upeafea =it e F o el e

DELL =i
TS 17% 8:7
ST 22% 4:5
o 25% 32
TR 8% 7:5
AT 12% 7:8
fommm 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

3 v faaeR g g 8 DELL 501 % gt o9 0 e Tt SeorRl 1w e 2 e

(1) 10000 (2) 15000

(3 10500 (4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

foream = T T W STIEEATCR S (9 % 399 1 T94E HEE ST 27
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(3) faeff-famag == (4) =T fTFm =R

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only  (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

fretefiga fafreaien 4 @ #5 a@1 s7=En w9 o 1 agw 27

(A) T
(B) Ta@s-FE-qartagim
(C)  wrgem fafaam

(D) W=-TqEa
(E) Tod5

Fr= fau o famedi © @ w1 S w1 = Fifaw

(1) =& (A), (B) 371 (C)
(2)  FAd (4), (C) 3R (D)
(3) %A (B), (C) 3 (D)
(4) =& (C), (D) 311 (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation () Compares one student with another student

(B) Summative Evaluation (ll) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(l), (C)-(1), (D)-(I1)  (2) (A)-(lD), (B)-(IV), (C)-(I), (D)-(I)

(3) (A)-(I1), (B)-(1), (C)-(lin), (D)-(IV)  (4) (A)-(), (B)-(I1), (C)-(IV), (D)-(ll1)

-1 % =1 geAI-I1 =1 foem Fifsm) wom 3=t goar 1 fafe agfaat 1 2, 74 oot o= =5 =rfifo=s
e it 21 F-1 vF -1 1 e i

-1 RS
oA -G el
(A) T g @) e faeneff & gm faenff & gemn @ 2

(BY TFoIadT=AF OeaTsa (N o= s $F 3=91 o8 Buths =7 o



=TT 2|
(C) Teu efda gearsa (IIT) woyme: =aferm i sifagoon wa wgz@Ew
ECrp i

(D) T T goar (IV) wuHa: Fowm wifg & #ofeer 29 o9
Y
BT &1

Fr fom o fameat ® | wE 3T 99 A

1) (A)-AV). (B)-IID), (C)-I). (D)(II)
@) (A)-ID, (B)-AV). (C)-(ID), (D)D)
(3)  (A)-AD. (B)-D). (C)-(III). (D)-(IV)
@) (A)-D. (B)-(ID). (C)(IV), (D)-(I1I)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 31 Fya faw o E

F94 (D) : foram =yt (wifaetier) e 61 o geya fage = & e 9w anfifas f
AT TR Wiug FE A9 ST ® OO S w1 =

Fe (II) : foren % qAEOEE e % sEEn =i geteE sEen {ivee =0 g awEite
_F-.ﬁ:ﬁ E EQ ot

ITE HIE * ATAF 4, A9 5 e § 9 wEl 39 w0 = i

(1)  ®o (D) 3% (D) 3 73 2
(2)  F (D) 3R (1) 3 75 &

(3) A (D) Tedg 2, et = (1) #18ed 2

@) (D) 5= 2, AP w1 7T #

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

fr=a @1 wem f2u e 2 ;v wfawud (Assertion A) % =9 ° ffad & 41 F'\FTFTH%FWW (Reason R)
ETH -

27FTERTT (A - Trepmr Trms U9 IRNTOEET & 0% OOETEOS U9 =0 e = ogreete



ST

FAT B, HAd: T2 HEIA vA T d = B

T R): "SR UA WA 2T # AT SEE-TEE % e T W e 2 A

U HUAl A §, Aie 20 T fawedl ¥ O ged 39g 39 6 994 i

1) (A) IR R) A FEF S (R). (A) F 76 =mem g

(2) (A3 (R) ZA T E, S (R). (A) Fi wF =men T 2
(3) (A wE #, AT (R) 78 74 2

4)  (A)=E R, A (R) @E R

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

freAfefiga el § @ fhes FesHaE =T i SO % A R ST B

(1)  =z-3va-gara (2) wraTiE Fge
(3) TR STATRATaR (4) TR W

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) ldentify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

Fi &t Tt et § | e e i TEEE w5

(A) = ufagrfi & afies @ oo # sEey ° Toaiad 2

i

(B)  $EH T HET A6 & WHEISE 9% el TF aEdE 309 ¥ 9 = &

(C)  wiveneff adm @1 Yaewriers aREafEt 7 e & = )
(D)  =ienefl gEE © == % AU e S S AemEE I oS R o )

(E) <o worelt ua wiy-uima g9 § eienad 2 2

i 2w o famwewl ® © @R 3 F 999 St

(1) a9 (A). (C) 31 (E)
(2)  FAA (A). (B) 3 (0)
(3) =& (B). (C) 3T (D)

(4) == (C), (D) 3 (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]



3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il :

List | List Il

Methods of research Features emphasized

(A) Experimental (l) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (Il) Status of facts and conditions are ascertained

(C) Descriptive (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (C)-(l), (D)-(IV)  (2) (A)-(I), (B)-(D), (C)-(1V), (D)-(IlN)

(3) (A)-(I, (B)-(IV), (C)-(I1), (D)-(1)  (4) (A)-(IV), (B)-(lI), (C)-(1), (D)-(I)

-1 % =1y -1 F1 Toerm Fif=e
g1 T=i-1T
7Y TGt e g
(A) THETTIHE () =Taf® AEE W 96 od 7Y MamE
et @il %1 e w2 E
(B) M@ (II) wifegfaai va @z 1 fFafa gEEs
E i
(C) =vHHS (ITI) ZH =X 92 U9E A F o8 o =9 H 2
T = 2|
(D) UfTETE (IV) fawe #1 @9 ©d 78 AmE A9 59

FF AT 5 T 2
4= fou T e | wE I R 99 i

(1) (A)-(D). (B)-(IT). (C)-(III). (D)-(IV)
(2) {(A)-(ID). (B)-(D). (C)-(IV). (D)-(III)
(3) (A)-(IID), (B)-(IV). (C)-(ID). (D)-(I)
4 (A)-(IV). (B)-(IIL). (C)-(I). (D)-(IL)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31 =y fu e -

w97 (1) FEYE U TEH-TAven Uh qeAh HE B % 0 S HE - A S
Fo (1) : FEH & S U = § {1 HL A, gEe war B

IRIF FIF F ATAF H, S @ T FEwe] A TE 39 F 999 i

(1) = (D) =0 (ID) 2 909 &

(2) = (1) 3 (ID) H 38D &

(3)  =wua (1) "em 2, =T F9A (1) 15 2



4y =y (1) F9F =, = w94 (D a0F =

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13763]
2 [Option ID = 13764]
3 [Option ID = 13765]
4 [Option ID = 13766]

A w N =

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

fr=r 3t o fom 7w € © wF wfimos (Assertion A) % 0 # fifiad 2 1 g0 35% FA0 (Reason R) %

=TH

ATTFAT (A) : 5@ Tl afweTar (UHo) iR w4 I 2 Al AqEeEEal f g
(w) =i &1 A 2|

F (R) : i afeer (vm0) vF mEiTE ufiweT T B AR vE (UE:) '@ ' OF FhEm

TR { #7 qieT Eﬁ?&fh £ affa § o 5 2
SR FYA o HEE 9, A o T faed § ° A9E 39g 3T 1 99 Fia

(1) (A) 3R (R) 2T Wt § 317 (R). (A) F1 w6t = &

2) (A AR R)FA HWE 7, =T (R). (A) FT wE = T e

(3) (AT E, @ (R) 78 76 =

4) (AT FE 2, @i (R) w8 2
[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13767]
2 [Option ID = 13768]

3 [Option ID = 13769]
4 [Option ID = 13770]

A W N -

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

frfafms 4 & #i9 wmeE @6a F1 95 33Em 7 e smr-wae (fm), = (@), 7m0 (3=99)
S fermy (9is) =t s e &7

(1) &= e qisa (2) @A™ Tgha
(3)  sTwYHIT Thd (4) U am

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13771]
2 [Option ID = 13772]
. 3 [Option ID = 13773]
4 [Option ID = 13774]

A W N -

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).



(3) (A) is correct but (R) is not correct.
(4) (A) is not correct but (R) is correct.
Fr 21 o fow T 2 oF AfMFEH (Assertion A) F ¥4 H fafEq ® 1 550 30 FEW (Reason R) F

A

HAFA (A) AOEY F Ty § SEURUTeE T Tied W Seed wdl & 9 wfees-uin
(FS-=m) Fed B

FI0 (R): HETHF 71 FEAUF AE F G0 S ® | iees - A1 2

IS FEA & A 1, A 50 T fSEen 0 3 gen 39gw I H 95 Hie

(1) (A) ¥R (R)7H =4 £ @R (R). (A) F1 =78 =wen 7

(2)  (A) =R (R) 3F1 98 2, @A (R). (A) F 98 == 77 2

(3) (A R, T (R) T 2

(4) (A =E TF 7, witE (R) @R 2

[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= g1 e R e

Fe (D) : TATE TN WOV B WEF W] F A5 AETEE B
Fo (10) : Hifgs ama v S grE-amEn % e 2

I FUT F ATHAE °, A= 2 e GEen 4 9 "8 39w 99w fif

(1) =9 (I) 31 (II) 341 |3 2
)  Fom () 3R (D) 3FT w7907 &
(3)  we (1) Hew B, v w9 (1) 793 2

(4) = (1) 79 2, wih =ee (1) 909 &

[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13779]
2 [Option ID = 13780]
3 [Option ID = 13781]
4 [Option ID = 13782]

AW N =

14) Identify the barriers to communication from the list given below :
(A) Time and distance
(B) By-passed instructions



(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

Aeifeafian g=ht § & wemo i Sy w1 uaTe -
(A)  mE R

(B)  uftd s/

(C) @M vd fEn = Feeg F

(D) == vd = = e —ag =

(E)  dTfeeh &1

= f2u o fameT § | wE 39w =9 A

(1) == (A) 31 (B)
(2) %A= (B) #R (C)
(3)  #A=d (C) =1 (D)

(4 ¥ (D) ¥R (B)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication (I) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (Il) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(11), (C)-(1V), (D)-(lI1)  (2) (A)-(11), (B)-(1), (C)-(lD), (D)-(IV)

(3) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)

F-1 % Ty g=-11 =1 faem Hif
-1 THLII
FEIYOT % T g feran
(A)  FFTET TRy (I) T % HEEA 0 RN R HATEYARAT R
T F e T # 5gd
(B) Sufwret Fe (I) #E-TH=" &d o= o4 0 us IwEnt
T T B
(C)  dfest Fem (1) =7 fowal w3 omeen & afagfe & @
Tafed A 2|
(D) TO-=TS HEE (IV) et ff g w1 ¥ wd-wmEE @em

4 feu 0 fgFeal § © TF1 I & =999 FHiran




(1)  (A)-D. (B)-(ID. (C)-(IV), (D)-(III)
@ (A)-AD. (B)-(D). (C)-(III). (D)-(IV)
(3)  (A)-AID), (B)-IV). (C)-X), (D)-(I)
@ (A)-AV). (B)-IID). (C)-1D), (D)-)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

=f3 Famea, fasraqea =1 25% & & =y 1 afwaar F#m 27

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

= Tk 26 et =EE %, 20/FF % W W T # IE gEC TR w30 e = e e gm d e
35 T, 36 /TR % T W TlE o o 39 v G 5w aew w5 30/ F W s 7 55E 9
%IEI[FI;%HH CFEIT??'lTﬁ?

(1) 5% (2) 10%

(3) 15% (4) 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

o grg-Taska . X/t & o W g9 wig # %, 2X/f % @ W S"ar 2| 9@9g 56 98 2 ol o
THF 6 Tt g 39 ° T9en 21 21 35 any Fit afwmar w=m 2

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/~ (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3t Q =i 3itgd =i 1@ 5050 9 &, Q 31X R i siiq =it 19 6250 94 @ P 3 R i

T R s T, W WL o N = Sy . IO 2. S . s W 38,



AL g A ot S Ll R Sy~ S e (o A ek 8 R R - el | S S il et o i T, R e S, L i 2

(1)  3.000/- =7 (2) 3,500/- 797

(3) 4.000/- =19 (4) 4,500/- 5

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 Tl = S 20 & 991 gEel e 9 3 Gl % A o 1/3 2| umell g o 5E e B e

(1) 15 2y 20
(3) 25 4y 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21) According te Nalvayikas we ascertain the relation of universal concomitance between x

and vy :

(A) We can determine the relation only if we can determine the relation of eszential
identity between x and y

(B) By perceiving that in all cases the presence of x 1= accompanied by the presence of ¥

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not perceiving any instance where the presence of x 13 not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only

(2) (D) and (C) only

(3) (B) and (D) only

(4) (A). (B) and (C) only

A F SHAR 27 x 17 y B AEiEE gEniEa # A9eeg geEfeEd #d 2

(A)  x 3R y = W SUNEE A YA UHREAl T G- GHEd B4 9 R 56 g i ad
T |

(B) =i witEaiaa 9 x i uiEdla & @y y F1 SUEdid i FEET w06 =1 GHE F)

(C) =9 "eary i 9l GHTEa & Ohd 7 99 29 x 0 y F s" HE-HEv geEey gETEad Hw e

(D)  x Fi ufeafs & =g y Fi sEefeata oy f el F e o foamtets = FwE §@ e .

9T T
M 15U U T 8 O HE I R 59 i

(1) === (A) 51 (C)

{AsT e ) S



() =hdel (L) HF (L)
(3)  FF= (B) AT (D)
(4) a1 (A). (B) 31T (C)

[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]
2. 2 [Option ID = 13812]
3. 3 [Option ID = 13813]
4. 4 [Option ID = 13814]

22) Match List I with List II ;

Liat I List IT
(A)  Vyapti (I} The property being inferred
(B) Linga (II) Locus of hetu and Sadhya
(C) Sadhya (IIT) Sign or reason
(D) Paksa (IV) Universzal concomitance

Choose the correct answer from the options given helow :

(1) (A)-D. (B)-IID). (C)-(ID). (D)-IV)
(2) (A)-(ID), (B)-(ITT), (C)-(I), (D)-(IV)
(3)  (A)-(IV). (B)-(IIT). (C)-(I), (D)~(IT)
4 (A)-IID). (B)-(I). (C)-(IV), (D)~(IT)

THt-1 % =19 g=A-11 =1 fgam i
el 11
(A) =t D ToTEH FSATEH
(B) fem (II)  =d =T Trea =1 w0
(C) @A (III) Hehd AYET HEI
(D) u&F (IV) @rE«tfas gemiyar

= fau 1o fameat # © wE SR A 9me Fifaw

(1) (A)-(T). (B)-(III). (C)-(1I). (D)-(IV)

(2) {A)-(IL). (B)-(IID). (C)-(D). (D)-(IV)

(3) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)

(4) {(A)-(IID). (B)-(D). (C)-(IV), (D)-(II)
[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]

3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) Given below are two statements :

Statement I: According to Classical Indian Logic the fallacies (hetvabhasa) are not

errors of inference, but rather hindrances to inference.

R g i e U g o T % TR L aat b e A R ety [ i g T e e e o e Ty Beder s a7 | S oL DO ey TR [Pl P T, P SPeL i b



(el SRl B Ll B R ERN S SE L) lallaty 1o lodlly d 2 SCCllildle Iovasiill Ul lldalh | Lo uvValllldsd §f, Velliledll, 11

recognized, would prevent the inferential cognition from arising.

In the light of the above statements. Choose the correct answer from the options given

below :

(1) Both Statement I and Statement I are true.
(2) Both Statement I and Statement II are falze.
(3) Statement I 1s true but Statement II 1= false.

(4) Statement I 1s false but Statement II is true.

i 31w fau w7

F9 (I) - YA g7 TS F ST oA A w1 A T8 S0 SEde 2
F9 (ID) : FoATHTE TG ST WA S9GT Bhd 7 A ST S 7 OAw 9 S e

w1 Iea 1 AR =
ITE FYF & e °, T f2r o et 8 O od I = 9 i

(1) = (1) 3 (II) 31 &em 2
2w (1) 3% (I0) 31 s

(3) = () 5e7 2, wifwa w9 (1) 37903 2
(4)  =wuE (1) A5 2, wieh a9 (1) §c9 2

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

A W N -

24) “‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ‘“‘Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) “‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

g weft HHAETE FHT UH BET B W SAte wEaeIal e T8 d Bl SAdrieigd w5 8 e
1 HUA I = 24 H A B 7

(1) =3 ff go: GudEE T UE @A 6 2 o Jafee Sdel ® @ad war el 98 T weE
=1 77 Tiaatda a1 2 S qifee ®9 H THged 2

(2) e off Jor: THAEE WO UH @UT 9 & A S4rmw Taeaal w1 Siad e 7| 2y mowee
=1 77 Tfoafda 919 & 7 i 9§ wEnged

(3) =9 ueia: GUAEE] QU UH qOTS 2 S A4t e siad w0 7| B T e w5 aE afage
AT & HAN A% B0 ° #HH 2

(4) TS Ued: AUAETE GETS UH TETS TE 8 S Saihh Taear s SEe #d 8) fBe T e w5 o
S | e 2 Al | Ll e 2l e ke e

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]



2. 2 [Option ID = 13824]
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

31 wfastaat =amEd 2 3fe

(1) v, 8% & Fue Tl & 91 9960 <6 2

(2)  3FR, SF GeF B FA] & S aF1 J8cT T8 B wedi|

(3) TR I 3299 AN Fady g fim #, vd o7 o A oft srem 2

(4) oW I9F 3299 AR 999 99F F AR T Fad g © 91 i F v o g afhw 2
[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]

3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

=9 BT 67.625 1 fgamart ouges #4127

(1) 1000010 . 110 (2) 1000011 .110

(3) 1000010 . 101 (4) 1000011.101
[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.
(A) RAM
(B) Optical Drive
(C) CPU Cache
(D) SSD
Choose the correct answer from the options given below :
(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)
(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)
UFEH ZIEW i SAH H TEd 50 Hed oW o TeH €19, T F 0 o GU T we § ¥ wht w6 6 Eee
i
(A) 19
(B) A== 3153
(Cy g, W=
(D) TH.EE.EL.

I fau 0 fawedi § ® 991 3 #1999 Fia

(1) (B). (D). (A), (C)
(2) (0. (D). (A). (B)

s 2" A% MY A My



Wy A dfy LVALFAfr A0 Ty VLSS

(4) (C). (A), (D). (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 1 Fud fgw o #

T (D) TR H, F AaeE & - HiHE A0 AEEEd wEE
= (1) : TH.35AY 0 AR TN, H GAeE 2 - el dsH W% Ufdd-wT B 3 UHsfiE
ATegH

I Y F AT H, A= 2w e 9 9 98 39w =99a A

1)  F\ (D) 3 (D) 34 @ 3
@) = (D) ¥R (1) 3 s

(38) =9 (I) Te9 &, e #ue (1D o153 2

(4) 9 (I) AEeT 2, =itk e (I0) 9e9 &

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

fafafes 8 9 FF-=19 @ FoF FiE da1 8 one w1 A 1 gfre 3 gestag 27
(A) ATIF ZEES 9 TR
(B) #AF-TE YT

(C) =oqot 3 § wE fafwemda e

Fr= fou o fasedt @ w91 3w w1 9 FHifaw

(1) (A, (B) 3l (C)
(2)  =FEA (A) 37 (C)

(3) === (B) 311 (C)



(4)  FAE (A) #0(B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (1) Semantic Web

(B) Web 2.0 (Il) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (2) (A)-(111), (B)-(1), (C)-(1V), (D)-(11)
(3) (A)-(I1), (B)-(IV), (C)-(1), (D)-(lI)  (4) (A)-(IV), (B)-(Il1), (C)-(1), (D)-(11)

-1 % =y g=-11 =1 faee Fif

F=-I =11

T 1 T
(4) TEH e () =Hfs 9
(B) =9 2.0 (IT) FF Fied F4 % fan Svze =1 mam
(C) == 3.0 (III) == 79 1 799 F fou e $ 72 e
(D) =ff.=m.2m . (IV) =reAsiiea a9

e fow U TerkeTl | | "E IO 1 9 it

(1) (A)-(TID). (B)-(IV). (C)~(I), (D)~(ID)
(2)  (A)-ID. (B)-D. (C)-AV), D)-(ID)
(3)  (A)-(II). (B)-(IV). (C)-(D). (D)-(IIT)
(4) (A)-(IV). (B)-(III), (C)-(D), (D)~(II)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

Hi=l 71 =y fsg 1w # -

F7 (D) : et TgEn w1 ufage uae =@tE i dEn-mth F my-uy gEas - w ot
TSl 2l
FoE (1) : HHEE SR, - & wE | a2

IWF T FATAE °, = @3 M0 FEeT § | Wl 39 w1 99 e

(1) == (D) 3 (ID) 21 oeg &



(2) = (D) 3 (1) 34 5o E
(3) TR (1) wex 2, wfd wea (1) @ 2

4) = (1) 96 2, S w9 (1) " 2

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

ffefga & @ =i @r 29 30 fim ae H auar ae fGva % geg 93 g-ag-sa-3aE i e

e H Herm B 7

~

(1) = (2) 4ra
(3) A= (4) = -

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

H= 71 e 5T 0 E ; w AfiEYT (Assertion A) % %9 # feifiga & EHTFEH%"":FH'*JT (Reason R)

HAfFI (A) : Furvit o we (v S ) i wifi g v e amEer )
F (R) : F= TH.ILH. waEEg B

IR FUA F A 9, A= B T e 9 meE 39T 39 6 =99 Fifa

(1)  (A) 3R (R) 2H1 ®é # 3 (R). (A) #if #E =men 2

2) (A #R (R)FF T E, @ R), (A) F wE = T 2

(3) (A=A &, A (R) T 7@ ¢

@) (AT A R, @ (R) "R

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13859]
2.2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.



Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.
In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

= o7 FoF 5T T #  UF Ai9FeA (Assertion A) F ¥ H TARIA ® @ 550 3F FRW (Reason R) F

Eau -

ATFLA (A) : HHEFAT A T F T T TEERE AR Ay mifEias-aa B s 6 s
TETE TR | aiatad # A 2

F (R): AT F A H 7 T IEF a2

IO HUAT F S §, 6 50 T faweT 8 | w8 35 99 A

(1)  (A) 31 (R) THI @F 2 311 (R). (A) =i 97 =an=n 2

2) () FR(R) TE FA 2, T (R). (A) F wE = T

(3 (AT 7, A (R) w9 7

4 (A) @ TH 2, w6 (R) T 2

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) ~57% (2) ~ 42%
(3)~37% (4) ~ 28%

1)  ~57% (2) ~42%
(3)  ~37% (4) ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?

(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frfafes ¥ #1991 §e9 59R T9 § HE4E €Y JvEE g Hatdd e o w8t

(1)  wFha AEFGE 54 (2) @E FEFHOE god
(3) i (4) wATER-=Hi=a



[Question ID = 3602][Question Description = Q41_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4. 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

ot i #i vm, = adeE & -

(1)  =a1em &t U2 ThiY (2)  =aT=m wT= Ffse faeem
(3)  HA WS ATE Fisz ThE (4) sz =13 AT Gz w-ud

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13875]

2. 2 [Option ID = 13876]

3. 3 [Option ID = 13877]

4. 4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona Virus Disease strain 19

(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifaE-19 =1 gaeE B -

(1) =i sy SHs A7 2019

(2) AT sy S 21 19

(3) FAMET a0 feam=t 317F 2019

(4) = aTsTE T w2020
[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13879]
2.2

[Option ID = 13880]
3.3

[Option ID = 13881]
4. 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

it (NITI) 2317 =1 Hefers & -

(1) 99 SRgEA TR g siea

o C S s WA M e
(2) AU TEZHZ ATF 2] T2 IUTH

(3)  HuHel SESEgE A Al AT

(4) TIAS ST AT ZEFEEIH & TAEH

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]



2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il :

List I Listll

(Days Celebrated) (When)

(A) Earth Day (l) 24 January

(B) UNO Day (Il) 5th June

(C) Environment Day (lll) 24th October

(D) International Day of Education (V) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(1n), (C)-(1), (D)-(IV)  (2) (A)-(IV), (B)-(Il1), (C)-(1), (D)-(11)

(3) (A)-(I1), (B)-(IV), (C)-(), (D)-(lI1)  (4) (A)-(IV), (B)-(Il1), (C)-(IT), (D)-(1)
Tt-1 % g F=-11 7 e Fifse

=1 TA-11
EC] feroft
(4) wE-TEm O 24 sH=A
(B) @g Tg @ e ID 557
(C) i~ femm (I 24 wem
(D) g Fen foam Iv) 22 =i

= fau U faepeTl | ° WA 390 1 =59 Shifaw

(1) (A)-(D). (B)-(IID). (C)-(II). (D)-(IV)

(2) (A)-(IV), (B)-(I1D), (C)-(I), (D)-(II)

(3) (A)-(1D), (B)-(IV), (C)-(I), (D)-(11I)

(4) (A)-(IV). (B)-(ITI). (C)-(II). (D)-(T)
[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13887]
2 [Option ID = 13888]

3 [Option ID = 13889]
4 [Option ID = 13890]
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